# A STUDY OF FRACTIONAL INTEGRAL OPERATORS AND GENERALIZED k-WRIGHT FUNCTION

## VANDANA AGARWAL<sup>1</sup>, MONIKA MALHOTRA<sup>2</sup>AND MEENA KUMARI GURJAR<sup>3</sup>

1. Department of Mathematics, Vivekananda Institute of Technology, Jaipur

2. Department of Mathematics, Vivekananda Institute of Technology(East), Jaipur

3. Department of Mathematics, Malviya National Institute of Technology, Jaipur

E- mail: vandanamnit@gmail.com

#### ABSTRACT

In this paper we establish two theorems where in we have obtained the image of generalized k-Wright hypergeometric function under the fractional integral operators involving Fox's H-function. Four special cases of these theorems have also been derived. On account of the general nature of our result a large number of new and known results follow as special cases of our main findings.

#### **<u>1. INTRODUCTION:</u>**

Generalized k-Gamma function 
$$\Gamma_k(x)$$
 defined as (Diaz and Pariguan [1])  

$$\Gamma_k(x) = \lim_{n \to \infty} \frac{n! k^n (nk)^{(x/k)-1}}{(x)_{n,k}}, \ k > 0, \ x \in C \setminus kZ^-$$
(1)

where  $(x)_{n,k}$  is the k-Pochhammer symbol and is given by

$$(x)_{n,k} = x(x+k)(x+2k)...(x+(n-1)k), x \in C, k \in R, n \in N^+$$
(2)

For  $\operatorname{Re}(x) > 0$ ,  $\Gamma_k(x)$  is defined as the integral

$$\Gamma_{k}(x) = \int_{0}^{\infty} t^{x-1} e^{-\left(\frac{t^{k}}{k}\right)} dt$$
(3)

From equation (3) it follows that

$$\Gamma_{k}(x) = k^{(x/k)-1} \Gamma(x/k)$$
<sup>(4)</sup>

The generalized Wright hypergeometric function [8] for  $z, a_i, b_j \in C$  and  $\alpha_i, \beta_j \in R$ 

 $(\alpha_i, \beta_j \neq 0; i = 1, 2, \dots, p: j = 1, 2, \dots, q)$  will be represented in the following manner:

$${}_{p}\psi_{q}(z) = {}_{p}\psi_{q} \left[ \begin{pmatrix} (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \end{pmatrix} \middle| z \right] = \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{p} \Gamma(a_{i}+\alpha_{i}n)}{\prod_{j=1}^{q} \Gamma(b_{j}+\beta_{j}n)} \frac{z^{n}}{n!}$$
(5)

The generalized k-Wright hypergeometric function  ${}_{p}\psi_{q}^{k}(z)$  is defined by Gehlot and Prajapati [3] for

$$z, a_i, b_j \in C, k \in R^+, \alpha_i, \beta_j \in R (\alpha_i, \beta_j \neq 0; i = 1, 2, ..., p: j = 1, 2, ..., q)$$

and  $(a_i + \alpha_i n)$ ,  $(b_j + \beta_j n) \in C / kZ^-$ 

$${}_{p}\psi_{q}^{k}(z) = {}_{p}\psi_{q}^{k} \left[ \begin{pmatrix} (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \end{pmatrix} | z \right] = \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{p} \Gamma_{k}(a_{i}+\alpha_{i}n)}{\prod_{j=1}^{q} \Gamma_{k}(b_{j}+\beta_{j}n)} \frac{z^{n}}{n!}$$
(6)

For convergence, we use the following notations

$$\delta = \sum_{j=1}^{q} \left(\frac{\beta_j}{k}\right) - \sum_{i=1}^{p} \left(\frac{\alpha_i}{k}\right); \quad D^{-1} = \prod_{i=1}^{p} \left|\frac{\alpha_i}{k}\right|^{\frac{-\alpha_i}{k}} \prod_{j=1}^{q} \left|\frac{\beta_j}{k}\right|^{\frac{\beta_j}{k}}$$
$$\mu = \sum_{j=1}^{q} \left(\frac{b_j}{k}\right) - \sum_{i=1}^{p} \left(\frac{a_i}{k}\right) + \frac{p-q}{2}$$

1. If  $\delta > -1$ , then the series (6) is absolutely convergent for all  $z \in C$  and the generalized

k-Wright hypergeometric function  ${}_{p}\psi_{q}^{k}(z)$  is an entire function of z.

2. If  $\delta = -1$ , then the series (6) is absolutely convergent for all  $|z| < D^{-1}$ .

3. If  $\delta = -1$ , then the series (6) is absolutely convergent for all  $|z| = D^{-1}$ ,  $\operatorname{Re}(\mu) > \frac{1}{2}$ 

Special case of equation (6) becomes in the form by taking  $k = 1, p = 0, q = 1, b_1 = 0, \beta_1 = 1, b_2 = 1 + \delta, \beta_2 = v$ 

$${}_{0}\psi_{1}\left[\begin{array}{c}-\\(0,1),(1+\delta,\nu)\end{array}\right] = J^{\nu}_{\delta}(az^{\mu})$$
<sup>(7)</sup>

with complex  $z, \nu \in C$ , known as Wright generalized Bessel function [7, p.19, eq (2.6.10)]

The Fox's H-function or simply H-function was introduced by Charle's Fox [2]. This function is defined and represented by means of the following Mellin-Barnes type of contour integral:

$$H_{P,Q}^{M,N}[z] = H_{P,Q}^{M,N}\left[z \middle| \frac{(c_j, \gamma_j)_{\mathbf{1},P}}{(d_j, \delta_j)_{\mathbf{1},Q}}\right]$$

$$= \frac{1}{2\pi i} \int_{L} \theta(s) z^s ds$$
(8)
(9)

where  $i = \sqrt{-1}$ ,  $z \neq 0$  and

$$\theta(s) = \frac{\prod_{j=1}^{M} \Gamma(d_j - \delta_j s) \prod_{j=1}^{N} \Gamma(1 - c_j + \gamma_j s)}{\prod_{j=M+1}^{Q} \Gamma(1 - d_j + \delta_j s) \prod_{j=N+1}^{P} (c_j - \gamma_j s)}$$
(10)

The nature of the contour L in (9), the conditions for convergence of the integral (9), the asymptotic expansion of the H-function and some of its special cases can be referred to in the works of Srivastava,Gupta and Goyal [7] and Mathai and Saxena [5].

The fractional integral operators involving Fox's H-function were defined and studied by Kantesh Gupta[4] and Saxena and Kumbhat [6] in the following form:

$$R_{x,r}^{\eta,\alpha}[f(x)] = rx^{-\eta-r\alpha-1} \int_{0}^{x} t^{\eta} (x^{r}-t^{r})^{\alpha} H_{P,Q}^{M,N} \left[ c \left( \frac{t^{r}}{x^{r}} \right)^{m} \left( 1 - \frac{t^{r}}{x^{r}} \right)^{l} \left| \begin{array}{c} (c_{j},\gamma_{j})_{\mathbf{1},P} \\ (d_{j},\delta_{j})_{\mathbf{1},Q} \end{array} \right] f(t) dt$$

$$K_{x,r}^{\delta,\alpha}[f(x)] = rx^{\delta} \int_{0}^{\infty} t^{-\delta-r\alpha-1} (t^{r}-x^{r})^{\alpha} H_{P,Q}^{M,N} \left[ c \left( \frac{x^{r}}{x^{r}} \right)^{m} \left( 1 - \frac{x^{r}}{x^{r}} \right)^{l} \right|^{l} (c_{j},\gamma_{j})_{\mathbf{1},P} \left] f(t) dt$$

$$(11)$$

(12)

where M, N, P, Q are positive integers such that  $1 \le M \le Q$ ,  $0 \le N \le P$ . m, n and r are also positive integers. The (sufficient) conditions of existence of operators (11) and (12) are given below:

$$\begin{aligned} (i)\left|\arg(c)\right| &< \frac{1}{2}\pi\Omega, \ (\Omega > 0) \\ \Omega &= \sum_{j=1}^{M} \delta_{j} - \sum_{j=M+1}^{Q} \delta_{j} + \sum_{j=1}^{N} \gamma_{j} - \sum_{j=N+1}^{P} \gamma_{j} \\ (ii)1 &\leq p, q < \infty; p^{-1} + q^{-1} = 1; \\ (iii) \operatorname{Re}\left[\eta + \left(rm\frac{d_{j}}{\delta_{j}}\right)\right] &> -q^{-1}; \\ (iv) \operatorname{Re}\left[\alpha + \left(rl\frac{d_{j}}{\delta_{j}}\right)\right] &> -q^{-1}; \\ (v) \operatorname{Re}\left[\alpha + \delta + \left(rm\frac{d_{j}}{\delta_{j}}\right)\right] &> p^{-1}(j = 0, 1, \dots, m) \\ (vi) f(x) &\in L_{p}(0, \infty), \end{aligned}$$

#### 2. MAIN THEOREMS

## THEOREM 1

If 
$$Re(\alpha) > 0$$
,  $|\arg(c)| < \frac{1}{2}\pi\Omega$ ,  $\Omega > 0$ ,  
 $Re\left(\frac{\eta}{r} + \frac{\lambda}{kr} + \frac{\mu n}{kr}\right) + m\min_{1 \le j \le M} \operatorname{Re}\left(\frac{dj}{\delta j}\right) > 0$ ,  $\operatorname{Re}(\alpha) + l\min_{1 \le j \le M} \operatorname{Re}\left(\frac{dj}{\delta j}\right) + 1 > 0$ 

then for  $\delta > -1$ , fractional integral operator  $R_{x,r}^{\eta,\alpha}$  of generalized k-Wright hypergeometric function  ${}_{p}\psi_{q}^{k}(z)$  is given by

$$R_{x,r}^{\eta,\alpha} \left[ x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \left[ (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \right| ax^{\frac{\mu}{k}} \right] \right]$$

$$= x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \left[ (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \right| ax^{\frac{\mu}{k}} \right]$$

$$H_{P+2,Q+1}^{M,N+2} \left[ c \left| (c_{j},\gamma_{j})_{1,N}, (-\alpha,l), \{(1-\frac{\eta}{r}-(\frac{\lambda+\mu n}{kr})),m\}, (c_{j},\gamma_{j})_{N+1,P} \\ (d_{j},\delta_{j})_{1,Q}, \{(-\alpha-\frac{\eta}{r}-(\frac{\lambda+\mu n}{kr})),l+m\} \right]$$
(13)

## **PROOF:**

Using equation (11), the left hand side of theorem can be written as

$$R_{x,r}^{\eta,\alpha} \left[ x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \left[ (a_{j},\alpha_{j})_{1,p} \middle| ax^{\frac{\mu}{k}} \right] \right]$$
  
=  $rx^{-\eta-r\alpha-1} \int_{0}^{x} t^{\eta} (x^{r} - t^{r})^{\alpha} H_{P,Q}^{M,N} \left[ c \left( \frac{t^{r}}{x^{r}} \right)^{m} \left( 1 - \frac{t^{r}}{x^{r}} \right)^{l} \middle| (c_{j},\gamma_{j})_{1,P} \middle| t^{\frac{\lambda}{k}-1} (d_{j},\delta_{j})_{1,Q} \right] t^{\frac{\lambda}{k}-1}$   
 ${}_{p} \psi_{q}^{k} \left[ (a_{i},\alpha_{i})_{1,p} \middle| at^{\frac{\mu}{k}} \right] dt$ 

Now expressing  ${}_{p}\psi_{q}{}^{k}(z)$  in summation form and H-Function in contour integral with the help of equations (6) and (9) respectively and then changing the order of integration and summation which is justified under the conditions stated with theorem, we get

$$R_{x,r}^{\eta,\alpha} \left[ x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \left[ (a_{j},\alpha_{j})_{1,p} \middle| ax^{\frac{\mu}{k}} \right] \right] =$$

$$= rx^{-\eta-r\alpha-1} \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{p} \Gamma_{k}(a_{i}+\alpha_{i}n)(a)^{n}}{\prod_{j=1}^{q} \Gamma_{k}(b_{j}+\beta_{j}n)n!} \frac{1}{2\pi i} \int_{L} \theta(s) c^{s} \left\{ \int_{0}^{x} (x^{r}-t^{r})^{\alpha} t^{\eta+\frac{(\mu n+\lambda)}{k}-1} \left(\frac{t^{r}}{x^{r}}\right)^{ms} \left(1-\frac{t^{r}}{x^{r}}\right)^{ls} dt \right\} ds$$

$$(14)$$

To evaluate the t-integral substituting  $\frac{t^r}{x^r} = z, t = xz^{\frac{1}{r}}, dt = \frac{x}{r}z^{\frac{1}{r}-1}dz$  in the eq(14), we get

$$=x^{-\eta-r\alpha-1}\sum_{n=0}^{\infty}\frac{\prod_{i=1}^{p}\Gamma_{k}(a_{i}+\alpha_{i}n)(a)^{n}}{\prod_{j=1}^{q}\Gamma_{k}(b_{j}+\beta_{j}n)n!}\frac{1}{2\pi i}\int_{L}\theta(s)c^{s}\left\{x^{\eta+\frac{\lambda}{k}+\frac{\mu n}{k}+r\alpha}\int_{0}^{1}z^{ms+\frac{\eta}{r}+\frac{\lambda+\mu n}{kr}-1}(1-z)^{\alpha+ls}dz\right\}ds$$
(15)

Finally, on evaluating the z integral with the help of Beta function and re-interpreting the result thus obtained in terms of H-function and  ${}_{p}\psi_{q}^{k}(z)$  we get the required result.

#### **THEOREM 2**

$$If \quad \operatorname{Re}(\alpha) > \mathbf{0}, | \arg(c) | < \frac{1}{2}\pi\Omega, \ \Omega > \mathbf{0},$$
$$\operatorname{Re}\left\{\frac{(\mathbf{1}+\delta)}{r} - \frac{\lambda}{kr} - \frac{\mu n}{kr}\right\} + m \min_{\mathbf{1} \le j \le M} \operatorname{Re}\left(\frac{d_j}{\delta_j}\right) > \mathbf{0} \ , \ \operatorname{Re}(\alpha) + l \min_{\mathbf{1} \le j \le M} \operatorname{Re}\left(\frac{d_j}{\delta_j}\right) + \mathbf{1} > \mathbf{0}$$

then

$$\begin{split} K_{x,r}^{\delta,\alpha} \left[ x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \left[ (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \right] a x^{\frac{\mu}{k}} \right] \\ &= x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \left[ (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \right] a x^{\frac{\mu}{k}} \right] \\ H_{P+2,Q+1}^{M,N+2} \left[ c \left| (c_{j},\gamma_{j})_{1,N}, (-\alpha,l), \{ (1-\frac{1}{r}(1+\delta-(\frac{\lambda+\mu n}{k}))),m\}, (c_{j},\gamma_{j})_{N+1,P} \\ (d_{j},\delta_{j})_{1,Q}, \{ (-\alpha-\frac{1}{r}(1+\delta-(\frac{\lambda+\mu n}{k}))),l+m\} \right] \end{split}$$
(16)

## PROOF:

The proof of Theorem 2 can be developed on the lines similar to those given with proof of Theorem1.

# 3. SPECIAL CASES

1. If in Theorem 1 we reduce H-function involved in  $R_{x,r}^{\eta,\alpha}$  to  ${}_{\mathbf{1}}F_{\mathbf{0}}$  [7, p.18, eq (2.6.4)], by taking  $M = 1, N = 1, P = 1, Q = 1, r = 1, m = 1, l = 0, c_1 = 1 - \kappa, \gamma_1 = 1, d_1 = 0, \delta_1 = 1$  we get the following interesting result after a little simplification.

If 
$$R_{x,1}^{\eta,\alpha}[f(x)] = x^{-\eta-\alpha-1} \int_{0}^{x} t^{\eta} (x-t)^{\alpha} \Gamma(\kappa) (1+\frac{ct}{x})^{-\kappa} f(t) dt$$
 (17)

then

$$x^{-\eta-\alpha-1} \int_{0}^{x} t^{\eta} (x-t)^{\alpha} (1+\frac{ct}{x})^{-\kappa} {}_{p} \psi_{q}^{k} \begin{bmatrix} (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \end{bmatrix} dt$$

$$= \frac{\Gamma(\alpha+1)}{\Gamma\kappa} x^{\frac{\lambda}{k}-1} {}_{p} \psi_{q}^{k} \begin{bmatrix} (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \end{bmatrix} dx^{\frac{\mu}{k}} dt$$

$$H^{1,2}_{2,2} \begin{bmatrix} c \\ (1-\kappa,1),\{(1-(\eta+\frac{\lambda+\mu n}{k})),1\} \\ (0,1),\{-(\alpha+\eta+\frac{\lambda+\mu n}{k}),1\} \end{bmatrix}$$
(18)

The conditions of validity of (18) can be easily derived from the conditions of existence mentioned with the Theorem1

2. Further on taking k=1 in above result the following interesting result is obtained after a little simplification

$$x^{-\eta-\alpha-1} \int_{0}^{x} t^{\eta} (x-t)^{\alpha} (\mathbf{1} + \frac{ct}{x})^{-\kappa} {}_{p} \psi_{q} \begin{bmatrix} (a_{i}, \alpha_{i})_{\mathbf{1}, p} \\ (b_{j}, \beta_{j})_{\mathbf{1}, q} \end{bmatrix} at^{\mu} = \Gamma(\alpha+1) x^{\lambda-1}$$

$${}_{p+1} \psi_{q+1} \begin{bmatrix} (a_{i}, \alpha_{i})_{\mathbf{1}, p} (\eta+\lambda, \mu) \\ (1+\alpha+\eta+\lambda, \mu) (b_{j}, \beta_{j})_{\mathbf{1}, q} \end{bmatrix} ax^{\mu} ]_{2} F_{1} [\kappa; \eta+\lambda+\mu n; 1+\alpha+\eta+\lambda+\mu n; -c]$$

$$(19)$$

The conditions of validity of (19) can be easily follows from conditions mentioned with the Theorem1.

## VANDANA AGARWAL, MONIKA MALHOTRA AND MEENA KUMARI GURJAR

3. In Theorem1 on reducing H-function involved in  $R_{x,r}^{\eta,\alpha}$  to Whittaker function [7, p.18, eq(2.6.7)], we get the following interesting result:

If

$$R_{x,1}^{\eta,\alpha}[f(x)] = x^{-\eta-\alpha-1} \int_{0}^{x} t^{\eta} (x-t)^{\alpha} e^{-\frac{c}{2}(1-\frac{t}{x})} W_{\rho,\nu} \{c \ (1-\frac{t}{x})\} f(t) dt$$
<sup>(20)</sup>

then

$$x^{-\eta-\alpha-1} \int_{0}^{x} t^{\eta} (x-t)^{\alpha} e^{-\frac{c}{2}(1-\frac{t}{x})} W_{\rho,\upsilon} \{ c(1-\frac{t}{x}) \}_{p} \psi_{q}^{k} \begin{bmatrix} (a_{i},\alpha_{i}) \\ (b_{j},\beta_{j}) \end{bmatrix} dt^{\frac{\mu}{k}} \end{bmatrix} dt$$

$$= \Gamma(1+\alpha) x^{\frac{\lambda}{k}-1}{}_{p} \psi_{q}^{k} \begin{bmatrix} (a_{i},\alpha_{i})_{1,p} \\ (b_{j},\beta_{j})_{1,q} \end{bmatrix} dx^{\frac{\mu}{k}} \end{bmatrix} H_{2,3}^{2,1} \begin{bmatrix} c \\ (-\alpha,0), \{ (1-(\eta+\frac{\lambda+\mu n}{k})),1\}, (1-\rho,1) \\ (\upsilon+\frac{1}{2},1), (-\upsilon+\frac{1}{2},1), \{ -(\alpha+\eta+\frac{\lambda+\mu n}{k}),1\} \end{bmatrix}$$

$$(21)$$

The conditions of validity of above corollary can be easily obtained from the existence conditions of Theorem1

4. On reducing  ${}_{p}\psi_{q}^{k}(z)$  involved in the Theorem 2 to Wright Generalized Bessel function of first kind (7), we get the following result

$$K_{x,r}^{\delta,\alpha} \left[ x^{\lambda-1} J_{\delta}^{\nu}(ax^{\mu}) \right] = x^{\lambda-1} J_{\delta}^{\nu}(ax^{\mu}) \\ \times H_{P+2,Q+1}^{M,N+2} \left[ c \Big|_{(c_{j},\gamma_{j})_{1,N}(-\alpha,l)\{(1-\frac{1}{r}(1+\delta-(\lambda+\mu n))),m\}(c_{j},\gamma_{j})_{N+1,P} \\ (d_{j},\delta_{j})_{1,Q}\{(-\alpha-\frac{1}{r}(1+\delta-(\lambda+\mu n))),l+m\} \right]$$
(22)

provided that the conditions of existence of the above result follows easily with the help of Theorem 2.

# 4. ACKNOWLEDGEMENTS:

The authors are thankful to Prof. Kantesh Gupta, Malviya National Institute of Technology, Jaipur for her valuable suggestions and constant encouragement.

## **REFERENCES:**

- R.Diaz, E.Pariguan, On hypergeometric functions and Pochhamer k-symbol, *Divulgaciones Mathematics*, 15, No. 2(2007), 179-192.
- 2. C.Fox, The G and H-function as symmetrical Fourier kernals, Trans. Amer. Math. Soc., 98(1961), 395-429.
- 3. K.S. Gehlot, J.C.Prajapati, Fractional calculus of generalized k-Wright function, *J. Fract. Cal. and Applications*, **4** (2) (2013), 283-289.
- 4. K.Gupta, A study of Modified H-function and Fractional Integral Operator, *Kyungpook Math. J.* **47(4)** (2007), 519-527.
- 5. A.M.Mathai and R.K. Saxena, The H-function with Applications in Statistics and other Disciplines, *John Wiley and Sons*, 1974.
- 6. R.K.Saxena and R.K.Kumbhat, Integral operators involving H-functions, *Indian J.Pure Appl. Maths.*, **5**(1974), 1-6.
- 7. H.M.Srivatava, K.C.Gupta, S.P.Goyal, *The H-function of One and Two Variables with applications*, South Asian Publications, New Delhi, Madras (1982).
- 8. E.M.Wright, The asymptotic expansion of generalized hypergeometric function, *J.Londan Math.Soc.*, **10**(1935), 286-293, doi:10.1112/jlms/sl-10.40.286.